GLOBAL ATTRACTOR FOR NEUTRAL PARTIAL FUNCTIONAL INTEGRODIFFERENTIAL EQUATIONS WITH FINITE DELAY

BO DU AND XIAOJING WANG

Department of Mathematics, Huaiyin Normal University Huaian Jiangsu, 223300, P. R. China

ABSTRACT. This work is devoted to investigating the existence of global attractors for a class of neutral partial functional integrodifferential equation with delay. Using the classic theory about global attractors in infinite dimensional dynamical systems, we obtain some sufficient conditions for guaranteeing the existence of a global attractor.

AMS (MOS) Subject Classification. 35B41

1. PRELIMINARIES

This paper is devoted to investigating the existence of a global attractor for the following neutral partial functional integrodifferential equations with finite delay:

(1.1)
$$\begin{cases} \frac{d}{dt}\mathcal{F}(t,u_t) = A\mathcal{F}(t,u_t) + \int_0^t B(t-s)\mathcal{F}(s,u_s)ds + G(t,u_t), \ t \ge 0, \\ u_0 = \phi \in C, \end{cases}$$

where (A, D(A)) is the infinitesimal generator of strongly continuous semigroup on a Banach space $(X, |\cdot|)$; C := C([-r, 0], X), r > 0, is the space of continuous functions from [-r, 0] to the Banach space X, equipped with the uniform norm $||\phi|| =$ $\sup_{-r \le \theta \le 0} |\phi(\theta)|$; $(B(t))_{t \ge 0}$ is closed linear operator from D(A) to X and $B(t) \in$ L(D(A), X), for any $y \in D(A)$, the map $t \to B(t)y$ is bounded, differentiable and the derivative $t \to B'(t)y$ is uniformly bounded continuous on \mathbb{R}^+ , here L(D(A), X)is a Banach space of bounded linear operators from D(A) to X; the history function $x_t \in C$ is defined by

$$x_t(\theta) = x(t+\theta), \text{ for } \theta \in [-r,0];$$

 $\mathcal{F}:\mathbb{R}^+\times C\to X$ is defined by

$$\mathcal{F}(t,\phi) = \phi(0) - F(t,\phi), \ (t,\phi) \in \mathbb{R}^+ \times C;$$

F and G are X-valued functions on $\mathbb{R}^+ \times C$.

In [1], using the theory of resolvent operator developed in R. Grimmer [2], the authors obtained the existence of strict solutions for (1.1). Since the pioneering work of J. Hale [3], neutral partial functional differential equations have been extensively

Received December 12, 2010

investigated, and this investigation has also inspired rapid development in nonlinear analysis and nonlinear dynamical systems, see [4]–[8] and the references therein. The simplest scalar case is the following neutral partial functional differential equation on the unit circle:

$$\frac{\partial}{\partial t}D(v_t) = K\frac{\partial^2}{\partial x^2}D(v_t) + H(v_t).$$

Abstract neutral partial functional differential equations originate in the theory of viscoelastic materials. In [9], it was illustrated that the equation:

$$\dot{u}(t) = A_T \left[u(t) + \int_{-\infty}^t F(t-s)u(s)ds + \int_{-\infty}^t K(t-s)u(s)ds \right], \ t \ge 0$$

can be regarded as abstract formulation of the model proposed. After that, Hernandez and Henriquez [10, 11] established some results concerning the existence and uniqueness of solutions of the following partial neutral functional differential equations with infinite delay:

$$\begin{cases} \frac{d}{dt}(u(t) - F(t, u_t)) = Au(t) + G(t, u_t), & t \ge 0, \\ u_0 = \varphi, & \varphi \in \mathcal{B}. \end{cases}$$

Motivated by the above work, in this paper we will establish some sufficient conditions for guaranteeing the existence of a global attractor for (1.1). It is know that the global attractor is a very useful tool, which is valid for more general situations than those for stability to study the asymptotical behavior. Hence, our work enriches the content of partial neutral functional differential equations.

For the sake of convenience, we list the following conditions which will be needed in our study of (1.1).

(H₁) There exist a positive constant H and function $K(\cdot), M(\cdot) : \mathbb{R}^+ \to \mathbb{R}^+$, with K continuous and M locally bounded, such that for any $\sigma \in \mathbb{R}$ and for a > 0, if $u : (-\infty, \sigma + a] \to X, u_{\sigma} \in \mathcal{B}$ and $u(\cdot)$ is continuous on $[\sigma, \sigma + a]$, then for every $t \in [\sigma, \sigma + a]$, the following conditions hold:

(i) $u_t \in \mathcal{B}$,

(ii) $|u(t)| \leq H ||u_t||$, which is equivalent to $\phi(0) \leq H ||\phi||$ for each $\phi \in \mathcal{B}$,

(iii) $||u_t|| \leq K(t-\sigma) \sup_{\sigma \leq s \leq t} |u(s)| + M(t-\sigma) ||u_\sigma||,$

where \mathcal{B} is a Banach space of functions mapping $(-\infty, 0]$ into X endowed with the norm $\|\cdot\|$.

(H₂) For the function $u(\cdot)$ in (H₁), $t \to u_t$ is a \mathcal{B} -value continuous on $[\sigma, \sigma + a]$. (H₃) (i) $F : \mathbb{R}^+ \times C \to X$ is globally Lipschitz continuous, i.e., there exists a constant $L_1 > 0$ such that $L_1 K(0) < 1$ and

$$|F(t,\phi_1) - F(t,\phi_2)| \le L_1 ||\phi_1 - \phi_2||$$
 for any $t \ge 0$ and $\phi_1, \phi_2 \in C$.

(ii) $G: \mathbb{R}^+ \times C \to X$ is globally Lipschitz continuous, i.e., there exists a constant $L_2 > 0$ such that

$$|G(t,\phi_1) - G(t,\phi_2)| \le L_1 ||\phi_1 - \phi_2||$$
 for any $t \ge 0$ and $\phi_1, \phi_2 \in C$.

(H₄) (i) $F \in C^1(\mathbb{R}^+ \times C; X)$ and the partial derivatives $D_t F(\cdot, \cdot)$ and $D_{\phi} F(\cdot, \cdot)$ are locally Lipschitzians with respect to the second argument.

(ii) $G \in C^1(\mathbb{R}^+ \times C; X)$ and the partial derivatives $D_t G(\cdot, \cdot)$ and $D_{\phi} G(\cdot, \cdot)$ are locally Lipschitzians with respect to the second argument.

(H₅) If $(\varphi_n)_{n\geq 0}$ is a Cauchy sequence in *C* and if $(\varphi_n)_{n\geq 0}$ converges compactly to φ on [-r, 0], then φ is in *C* and $\|\varphi_n - \varphi\| \to 0$ as $n \to \infty$.

Definition 1.1. Let T > 0. A function $u : [-r, T] \to X$ is said to be a strict solution of (1.1) if u is continuous on [0, T] and the following conditions hold

- (i) $t \to \mathcal{F}(t, u_t) \in C^1([0, T]; X) \cap C([0, T]; D(A)),$
- (ii) u satisfies (1.1) on [0, T],
- (iii) $u(t) = \phi(t)$ for $-r \le t \le 0$.

Lemma 1.2 ([1, Theorem 3.7]). Assume that (H1)-(H5) hold. Let $\phi \in C$ be a continuously differentiable such that

(1.2)
$$\phi' \in C, \ \mathcal{F}(0,\phi) \in D(A) \ and \ D_{\phi}\mathcal{F}(0,\phi)\phi' + D_t\mathcal{F}(0,\phi) = A\mathcal{F}(0,\phi) + G(0,\phi).$$

Then (1.1) possess a unique strict solution, which can be expressed by

(1.3)
$$u(t) = \begin{cases} R(t)\mathcal{F}(0,\phi) + F(t,u_t) + \int_0^t R(t-s)G(s,u_s)ds, & 0 \le t \le T, \\ \phi(t), & -r \le t \le 0, \end{cases}$$

where $R(t) \in L(X, X)$ having the following properties:

- (i) R(0) = I and $||R(t)|| \le e^{-\alpha t}$ for some constant $\alpha > 0$,
- (ii) For each $x \in X$, R(t)x is strongly continuous semigroup for $t \ge 0$,
- (iii) $R(t) \in L(D(A))$ for $t \ge 0$. For $x \in D(A)$, $R(\cdot)x \in C^1([0, +\infty); X) \cap C([0, +\infty); D(A))$ and

$$R'(t)x = AR(t)x + \int_0^t B(t-s)R(s)xds$$
$$= R(t)Ax + \int_0^t R(t-s)B(s)xds$$

Denote $\Sigma_0 = \{ \phi \in C : \phi \text{ satisfying } (1.2) \}$. Then from Lemma 1.2, for each $\phi \in \Sigma_0$, we define the following operator on Σ_0 by

(1.4)
$$U(t)\phi = u_t(\cdot,\phi), \ t \ge 0,$$

where $u_t(\cdot, \phi)$ is unique strict solution of (1.1) in Lemma 1.2. Clearly, $(U(t))_{t\geq 0}$ is a strongly continuous semigroup on Σ_0 .

Definition 1.3 ([12]). An invariant set \mathscr{A} is said to be a global attractor if \mathscr{A} is a maximal compact invariant set which attracts each bounded set $B \subset X$.

Definition 1.4 ([12]). A semigroup $U(t) : X \to X, t \ge 0$, is said to be point dissipative if there is a bounded set $B \subseteq X$ that attracts each point of E under U(t).

Lemma 1.5 ([13]). If

- (i) there is a $t_0 \ge 0$ such that U(t) is compact for $t > t_0$,
- (ii) U(t) is point dissipative in X, then there exists a nonempty global attractor A in X.

2. THE GLOBAL ATTRACTOR FOR (1.1)

In this section, we apply Lemma 1.5 to the strongly continuous semigroup $(U(t))_{t\geq 0}$ to obtain the existence of a global attractor of (1.1). For this purpose, we first give the following generalized Gronwall inequality, which is crucial for the estimate.

Lemma 2.1 ([14]). If

$$x(t) \le h(t) + \int_{t_0}^t k(s)x(s)ds, \ t \in [t_0, T),$$

where all the functions involved are continuous on $[t_0, T)$, $T \leq +\infty$, and $k(t) \geq 0$, then x(t) satisfies

$$x(t) \le h(t) + \int_{t_0}^t h(s)k(s)e^{\int_s^t k(u)du}ds, \ t \in [t_0, T).$$

Lemma 2.2. Assume that assumptions $(H_1)-(H_5)$ hold. Then, for each $\phi \in \Sigma_0$, if $L_1 < e^{-\gamma r}$, there exists a constant $\gamma > \alpha$ such that the strict solution $u(\cdot, \phi)$ of (1.1) satisfies the following inequality:

$$\begin{split} e^{\alpha t} \|u_t\| &\leq \frac{1}{e^{-\gamma r} - L_1} \left(\frac{(\alpha c_1 + c_2) L_2 (e^{-\gamma r} - L_1)^{-1}}{\alpha^2 - \alpha L_2 (e^{-\gamma r} - L_1)^{-1}} + c_1 + \frac{c_2}{\alpha} \right) e^{\alpha t} \\ &+ \frac{L_2}{(e^{-\gamma r} - L_1)^2} \bigg[\frac{L_2 (c_1 + (L_1 + 1) \|\phi\| - \frac{c_2}{\alpha})}{e^{-\gamma r} - L_1} \\ &- \frac{\alpha c_1 + c_2}{\alpha^2 - \alpha L_2 (e^{-\gamma r} - L_1)^{-1}} \bigg] e^{L_2 (e^{-\gamma r} - L_1)^{-1} t}, \end{split}$$

where $c_1 = F(0,0), c_2 = G(0,0).$

Proof. By (H₃), for each $\phi \in \Sigma_0$, we have

$$|F(t,\phi)| = |F(t,\phi) - F(0,0) + F(0,0)|$$

$$\leq |F(0,0)| + |F(t,\phi) - F(0,0)|$$

$$\leq c_1 + L_1 ||\phi||.$$

Similar to the above proof, we have

$$|\mathcal{F}(0,\phi) = |\phi(0) - F(0,\phi)| \le c_1 + (L_1 + 1) ||\phi||$$

and

$$|G(t,\phi)| \le c_2 + L_2 \|\phi\|.$$

Instead of considering the norm $||u_t||$ directly, we firstly estimate $||e^{\gamma}u_t||$ for some constant $\gamma > \alpha$.

Case 1. For $0 \le t \le r$, by (1.3) we have

$$\begin{split} \sup_{-r \le \theta \le 0} |e^{\gamma \theta} u_t(\theta)| &= \max\{ \sup_{-r \le \theta \le -t} |e^{\gamma \theta} \phi(t+\theta)|, \sup_{-t \le \theta \le 0} |e^{\gamma \theta} u_t(\theta)| \} \\ &\leq \max\{e^{-\gamma t} \|\phi\|, \sup_{-t \le \theta \le 0} e^{\gamma \theta} e^{-\alpha(t+\theta)} [c_1 + (L_1+1) \|\phi\|] + \sup_{-t \le \theta \le 0} [c_1 + L_1 \|u_{t+\theta}\|] \\ &+ \sup_{-t \le \theta \le 0} e^{\gamma \theta} \int_0^{t+\theta} e^{-\alpha(t+\theta-s)} (c_2 + L_2 \|u_s\|) ds \} \\ &\leq \max\{e^{-\gamma t} \|\phi\|, e^{-\alpha t} [c_1 + (L_1+1) \|\phi\|] + c_1 + L_1 \|u_t\| \\ (2.1) &+ \sup_{-t \le \theta \le 0} c_2 e^{-\alpha(t+\theta)} e^{\gamma \theta} \int_0^{t+\theta} e^{\alpha s} ds + \sup_{-t \le \theta \le 0} L_2 e^{-\alpha(t+\theta)} e^{\gamma \theta} \int_0^{t+\theta} e^{\alpha s} \|u_s\| ds \} \\ &\leq e^{-\alpha t} [c_1 + (L_1+1) \|\phi\|] + c_1 + L_1 \|u_t\| \\ &+ c_2 e^{-\alpha t} \int_0^t e^{\alpha s} ds + L_2 e^{-\alpha t} \int_0^t e^{\alpha s} \|u_s\| ds \\ &= e^{-\alpha t} [c_1 + (L_1+1) \|\phi\|] + c_1 + L_1 \|u_t\| \\ &+ \frac{c_2}{\alpha} (1 - e^{-\alpha t}) + L_2 e^{-\alpha t} \int_0^t e^{\alpha s} \|u_s\| ds. \end{split}$$

Case 2. For $t \ge r$, we have

$$\sup_{-r \le \theta \le 0} |e^{\gamma \theta} u_t(\theta)| = \sup_{0 \le t+\theta \le t} |e^{\gamma \theta} u(t+\theta)|$$

$$\le \sup_{0 \le t+\theta \le t} e^{\gamma \theta} e^{-\alpha(t+\theta)} [c_1 + (L_1+1) \|\phi\|] + c_1 + L_1 \|u_t\|$$

$$+ \sup_{0 \le t+\theta \le t} e^{\gamma \theta} \int_0^{t+\theta} e^{-\alpha(t+\theta-s)} (c_2 + L_2 \|u_s\|) ds$$

(2.2)

$$\le e^{-\alpha t} [c_1 + (L_1+1) \|\phi\|] + c_1 + L_1 \|u_t\|$$

$$+ c_2 e^{-\alpha t} \int_0^t e^{\alpha s} ds + L_2 e^{-\alpha t} \int_0^t e^{\alpha s} \|u_s\| ds$$

$$= e^{-\alpha t} [c_1 + (L_1+1) \|\phi\|] + c_1 + L_1 \|u_t\|$$

$$+ \frac{c_2}{\alpha} (1 - e^{-\alpha t}) + L_2 e^{-\alpha t} \int_0^t e^{\alpha s} \|u_s\| ds.$$

Therefore for $t \ge 0$, from (2.1) and (2.2), we get

(2.3)
$$\sup_{-r \le \theta \le 0} |e^{\gamma \theta} u_t(\theta)| \le e^{-\alpha t} [c_1 + (L_1 + 1) \|\phi\|] + c_1 + L_1 \|u_t\| + \frac{c_2}{\alpha} (1 - e^{-\alpha t}) + L_2 e^{-\alpha t} \int_0^t e^{\alpha s} \|u_s\| ds.$$

On the other hand, we have

(2.4)
$$\sup_{-r \le \theta \le 0} |e^{\gamma \theta} u_t(\theta)| = \sup_{-r \le \theta \le 0} e^{\gamma \theta} |u_t(\theta)| \ge \sup_{-r \le \theta \le 0} e^{-\gamma r} |u_t(\theta)| = e^{-\gamma r} ||u_t||,$$

which combines with (2.3) yields that

$$\|u_t\| \le e^{-\alpha t} [c_1 + (L_1 + 1) \|\phi\|] (e^{-\gamma r} - L_1)^{-1} + c_1 (e^{-\gamma r} - L_1)^{-1} + \frac{c_2}{\alpha} (1 - e^{-\alpha t}) (e^{-\gamma r} - L_1)^{-1} + L_2 e^{-\alpha t} (e^{-\gamma r} - L_1)^{-1} \int_0^t e^{\alpha s} \|u_s\| ds$$

and

$$e^{\alpha t} \|u_t\| \le [c_1 + (L_1 + 1)\|\phi\|] (e^{-\gamma r} - L_1)^{-1} + c_1 (e^{-\gamma r} - L_1)^{-1} e^{\alpha t} + \frac{c_2}{\alpha} (e^{\alpha t} - 1) (e^{-\gamma r} - L_1)^{-1} + L_2 (e^{-\gamma r} - L_1)^{-1} \int_0^t e^{\alpha s} \|u_s\| ds$$

Using the generalized Gronwall inequality in Lemma 2.1, we have

$$\begin{split} e^{\alpha t} \|u_t\| &\leq [c_1 + (L_1 + 1)\|\phi\|] (e^{-\gamma r} - L_1)^{-1} + c_1 (e^{-\gamma r} - L_1)^{-1} e^{\alpha t} \\ &+ \frac{c_2}{\alpha} (e^{\alpha t} - 1) (e^{-\gamma r} - L_1)^{-1} \\ &+ L_2 (e^{-\gamma r} - L_1)^{-2} \int_0^t \left[c_1 + (L_1 + 1)\|\phi\| + c_1 e^{\alpha s} \\ &+ \frac{c_2}{\alpha} (e^{\alpha s} - 1) \right] e^{\int_s^t L_2 (e^{-\gamma r} - L_1)^{-1} d\tau} ds \\ &= \frac{1}{e^{-\gamma r} - L_1} \left(\frac{(\alpha c_1 + c_2) L_2 (e^{-\gamma r} - L_1)^{-1}}{\alpha^2 - \alpha L_2 (e^{-\gamma r} - L_1)^{-1}} + c_1 + \frac{c_2}{\alpha} \right) e^{\alpha t} \\ &+ \frac{L_2}{(e^{-\gamma r} - L_1)^2} \left[\frac{L_2 (c_1 + (L_1 + 1))\|\phi\| - \frac{c_2}{\alpha}}{e^{-\gamma r} - L_1} \\ &- \frac{\alpha c_1 + c_2}{\alpha^2 - \alpha L_2 (e^{-\gamma r} - L_1)^{-1}} \right] e^{L_2 (e^{-\gamma r} - L_1)^{-1} t}. \end{split}$$

Lemma 2.3. Assume that the conditions of Lemma 2.2 are satisfied, further more, $\alpha > \frac{L_2}{e^{-\gamma r}-L_1}$, where γ is the constant defined by Lemma 2.2. Then $(U(t))_{t\geq 0}$ is point dissipative.

Proof. From Lemma 2.2, we find that, for each $\phi \in \Sigma_0$, since $\alpha > \frac{L_2}{e^{-\gamma r} - L_1}$, there exits a $t_0 := t_0(\phi) > 0$ such that for $t > t_0$,

$$\|u_t\| \le \frac{1}{e^{-\gamma r} - L_1} \left(\frac{(\alpha c_1 + c_2)L_2(e^{-\gamma r} - L_1)^{-1}}{\alpha^2 - \alpha L_2(e^{-\gamma r} - L_1)^{-1}} + c_1 + \frac{c_2}{\alpha} \right) + 1. \text{ (independent of } \phi\text{)}$$

Therefore,

$$B_{X_0}\left(0, \frac{1}{e^{-\gamma r} - L_1} \left(\frac{(\alpha c_1 + c_2)L_2(e^{-\gamma r} - L_1)^{-1}}{\alpha^2 - \alpha L_2(e^{-\gamma r} - L_1)^{-1}} + c_1 + \frac{c_2}{\alpha}\right) + 1\right) \cap X_0$$

attracts each point of X_0 , where $B_{X_0}\left(0, \frac{1}{e^{-\gamma r} - L_1}\left(\frac{(\alpha c_1 + c_2)L_2(e^{-\gamma r} - L_1)^{-1}}{\alpha^2 - \alpha L_2(e^{-\gamma r} - L_1)^{-1}} + c_1 + \frac{c_2}{\alpha}\right) + 1\right)$ denotes the open ball in Σ_0 with center 0 and radius $\frac{1}{e^{-\gamma r} - L_1}\left(\frac{(\alpha c_1 + c_2)L_2(e^{-\gamma r} - L_1)^{-1}}{\alpha^2 - \alpha L_2(e^{-\gamma r} - L_1)^{-1}} + c_1 + \frac{c_2}{\alpha}\right) + 1.$

Now, we show the compactness of the operator U(t). The following lemma is similar with Theorem 2.7 in [15]. But, for the reader convenience, we give the details of its proof.

Lemma 2.4. Assume that assumptions $(H_1)-(H_5)$ hold. Then, U(t) is compact for t > r.

Proof. Let t > r and $\{\phi_n\}$ be any bounded sequence of Σ_0 . We will use Ascoli-Arzelà theorem to show that $\{U(t)\phi_n : n \in \mathbb{N}\}$ is pre-compact in Σ_0 by two steps.

Step 1. Show for any $\theta \in [-r, 0]$, the set

$$Z(\theta) = \{ ((U(t)\phi_n)(\theta) : n \in \mathbb{N} \}$$

is pre-compact. For t > r and $\theta \in [-r, 0]$, by (1.3), we have

(2.5)
$$((U(t)\phi_n)(\theta) = R(t+\theta)\mathcal{F}(0,\phi_n) + F(t+\theta,u_{t+\theta}^n) + \int_0^{t+\theta} R(t+\theta-s)G(s,u_s^n)ds,$$

where $u^n(\cdot)$ is the strict solution of (1.1) with initial function ϕ_n . Since $\{R(t)\}_{t\geq 0}$ is compact, the boundedness of $\mathcal{F}(0, \phi_n)$ and assumption (H₃), we know that

$$R(t+\theta)\mathcal{F}(0,\phi_n)$$
 and $F(t+\theta,u_{t+\theta}^n)$

are pre-compact. Now, considering the third term in (2.5), for sufficiently small $\varepsilon > 0$, we have

$$\begin{split} \int_{0}^{t+\theta} R(t+\theta-s)G(s,u_{s}^{n})ds &= R(\varepsilon)\int_{0}^{t+\theta-\varepsilon} R(t+\theta-s-\varepsilon)G(s,u_{s}^{n})ds \\ &+\int_{t+\theta-\varepsilon}^{t+\theta} R(t+\theta-s)G(s,u_{s}^{n})ds. \end{split}$$

Noting that Lemma 2.2, we have

(2.6)
$$\sup_{n \in \mathbb{N}} \|u_s^n\| < \infty, \ s \in [0, t]$$

By (H_3) , we get

$$|G(s, u_s^n)| \le c_2 + L_2 ||u_s^n||.$$

Therefore, from (2.5) and (2.6), there exist some constants $M_1, M_2 > 0$ such that

$$\int_0^{t+\theta-\varepsilon} R(t+\theta-s-\varepsilon)G(s,u_s^n)ds \bigg| \le M_1$$

and

$$\left|\int_{t+\theta-\varepsilon}^{t+\theta} R(t+\theta-s)G(s,u_s^n)ds\right| \le M_2$$

which yields

$$R(\varepsilon)\bigg\{\int_0^{t+\theta-\varepsilon} R(t+\theta-s-\varepsilon)G(s,u_s^n)ds:n\in\mathbb{N}\bigg\}\subset\Gamma_\varepsilon,$$

where Γ_{ε} is a compact set. Thus, $Z(\theta)$ is pre-compact.

Step 2. Show the equicontinuity of $\{U(t)\phi_n : n \in \mathbb{N}\}$. Let $-r \leq \theta_1 < \theta_2 \leq 0$, we have

$$(U(t)\phi_{n})(\theta_{2}) - (U(t)\phi_{n})(\theta_{1}) = [R(t+\theta_{2}) - R(t+\theta_{1})]\mathcal{F}(0,\phi_{n}) + F(t+\theta_{2},u_{t+\theta_{2}}^{n}) - F(t+\theta_{1},u_{t+\theta_{1}}^{n}) + \int_{0}^{t+\theta_{2}} R(t+\theta_{2}-s)G(s,u_{s}^{n})ds - \int_{0}^{t+\theta_{1}} R(t+\theta_{1}-s)G(s,u_{s}^{n})ds = R(t+\theta_{1})[R(t+\theta_{2}) - I]\mathcal{F}(0,\phi_{n}) + F(t+\theta_{2},u_{t+\theta_{2}}^{n}) - F(t+\theta_{1},u_{t+\theta_{1}}^{n}) + \int_{t+\theta_{1}}^{t+\theta_{2}} R(t+\theta_{2}-s)G(s,u_{s}^{n})ds + \int_{0}^{t+\theta_{1}} (R(t+\theta_{2}-s) - R(t+\theta_{1}-s))G(s,u_{s}^{n})ds$$

which leads to

$$\begin{aligned} |(U(t)\phi_n)(\theta_2) - (U(t)\phi_n)(\theta_1)| &\leq ||R(t+\theta_1)[R(\theta_2 - \theta_1) - I]|| \times |\mathcal{F}(0,\phi_n)| \\ &+ |F(t+\theta_2, u_{t+\theta_2}^n) - F(t+\theta_1, u_{t+\theta_1}^n)| \\ &+ \int_{t+\theta_1}^{t+\theta_2} |R(t+\theta_2 - s)G(s, u_s^n)| ds \\ &+ ||R(\theta_2 - \theta_1) - I|| \int_0^{t+\theta_1} |R(t+\theta_1 - s)G(s, u_s^n)| ds. \end{aligned}$$

Since the mapping $t \to R(t)$ is norm-continuous for t > 0, for some $\delta \in (0, t - r)$, put

$$R(t+\theta_1)[R(\theta_2-\theta_1)-I] = R(t+\theta_1-\delta)[R(\theta_2-\theta_1+\delta)-R(\delta)].$$

Then

$$||R(\theta_2 - \theta_1 + \delta) - R(\delta)|| \to 0 \text{ as } \theta_2 \to \theta_1.$$

Thus

$$||R(t+\theta_1)[T_0(\theta_2-\theta_1)-I]|| \times |\mathcal{F}(0,\phi_n)| \to 0 \text{ as } \theta_2 \to \theta_1.$$

146

By the property of F,

$$|F(t+\theta_2, u_{t+\theta_2}^n) - F(t+\theta_1, u_{t+\theta_1}^n)| \to 0 \text{ as } \theta_2 \to \theta_1.$$

By the boundedness of $|R(t + \theta_2 - s)G(s, u_s^n)|$, then

$$\int_{t+\theta_1}^{t+\theta_2} |R(t+\theta_2-s)G(s,u_s^n)|ds \to 0 \text{ as } \theta_2 \to \theta_1.$$

Obviously, $\int_0^{t+\theta_1} |R(t+\theta_1-s)G(s,u_s^n)| ds$ belongs to a compact subset of X, and

$$\|R(\theta_2 - \theta_1) - I\| \int_0^{t+\theta_1} |R(t+\theta_1 - s)G(s, u_s^n)| ds \to 0 \text{ as } \theta_2 \to \theta_1$$

Hence $\{U(t)\phi_n : n \in \mathbb{N}\}$ is equicontinuity.

Here, we state our main theorem of this paper, which is an immediate consequence of Lemma 1.5, 2.3 and 2.4.

Theorem 2.5. Assume that assumptions (H₁)–(H₅) hold. If $\alpha > \frac{L_2}{e^{-\gamma r} - L_1}$, then (1.1) has a nonempty global attractor \mathscr{A} .

3. AN EXAMPLE

Ezzinbi et al [1] considered the following Lotka-Volterra model with diffusion: (3.1)

$$\begin{cases} \frac{\partial}{\partial t} \left[n(t,\xi) - \int_{-\infty}^{0} f(\theta, n(t+\theta,\xi)) d\theta \right] = \frac{\partial^{2}}{\partial \xi^{2}} \left[n(t,\xi) - \int_{-\infty}^{0} f(\theta, n(t+\theta,\xi)) d\theta \right] \\ + \int_{0}^{t} b(t-s) \frac{\partial^{2}}{\partial \xi^{2}} \left[n(s,\xi) - \int_{-\infty}^{0} f(\theta, n(s+\theta,\xi)) d\theta \right] ds \\ + \int_{-\infty}^{0} g(\theta, n(t+\theta,\xi)) d\theta \text{ for } t \ge 0 \\ n(t,0) - \int_{-\infty}^{0} f(\theta, n(t+\theta,0)) d\theta = 0 \text{ for } t \ge 0 \\ n(t,\pi) - \int_{-\infty}^{0} f(\theta, n(t+\theta,\pi)) d\theta = 0 \text{ for } t \ge 0 \\ n(\theta,\xi) = n_{0}(\theta,\xi) \text{ for } -\infty < \theta \le 0, \ 0 \le \xi \le \pi, \end{cases}$$

where $f, g: \mathbb{R}^- \times \mathbb{R} \to \mathbb{R}, n_0: \mathbb{R}^- \times [0, \pi] \to \mathbb{R}$ and $b: \mathbb{R}^+ \times \to \mathbb{R}$ are continuous functions and obtained the following results:

Theorem 3.1. Assume that assumptions $(E_1)-(E_5)$ hold. Then (3.1) has a unique strict solution, where $(E_1)-(E_5)$ can be found in [1].

Based on the above result, we can choose the proper $\alpha, \gamma, r, L_1, L_2$ such that $\alpha > \frac{L_2}{e^{-\gamma r} - L_1}$ and (3.1) has a nonempty global attractor \mathscr{A} .

REFERENCES

- K. Ezzinbi, S. Ghnimib and M. Taoudi, Existence and regularity of solutions for neutral partial functional integrodifferential equations with infinite delay, *Nonlinear Anal.*, 4:54–64, 2010.
- [2] R. Grimmer, Resolvent operators for integral equations in a Banach space, Transactions of the American Mathematical Society, 273:333–349, 1982.
- [3] J. Hale, Partial neutral functional differential equations, Revue Roumaine de Mathématiques Pures et Appliques, 39:339–344, 1994.
- [4] J. Wu, Theory and Applications of Partial Functional Differential Equations, Springer-Verlag, New York, Berlin, 1996.
- [5] J. Wu, Symmetric functional differential equations and neutral networks with memory, Trans. Amer. Math. Soc., 350:4799–4838, 1998.
- [6] M. Adimy and K. Ezzinbi, A class of linear partial neutral functional differential equations with non-dense domain, J. of Differential Equations, 147:285–332, 1998.
- [7] M. Adimy and K. Ezzinbi, Existence and linearized stability for partial neutral functional differential equations, *Differential Equations and Dynamical Systems*, 7:371–417, 1999.
- [8] E. Hernandez and H. Henriquez, Existence results for partial neutral functional differential equations with unbounded delay, J. Math. Anal. Appl., 221:452–475, 1998.
- [9] W. Desch, R. Grimmer and W. Schappacher, Wellposedness and wave propagation for a class of integrodifferential equations in Banach space, J. differential equations, 74:391–411, 1988.
- [10] E. Hernandez and H. Henriquez, Existence results for partial neutral functional differential equations with unbounded delay, *Journal of Math. Anal. Appl.*, 221:452–475, 1998.
- [11] E. Hernandez and H. Henriquez, Existence of periodic solutions for partial neutral functional differential equations with unbounded delay, *Journal of Math. Anal. and Appl.*, 221:499–522, 1998.
- [12] J. Hale, Asymptotic behavior of dissipative systems, in: Mathematical Surveys and Monographs, vol 25, American Mathematical Society, Providence, RI, 1988.
- [13] J. Billotti and J. Lasalle, Dissipative periodic processes, Bull. Amer. Soc., 77:1082–1088, 1971.
- [14] C. Corduneanu, Principles of differential and integral equations, Allyn and Bacon, Boston, 1971.
- [15] M. Adimy, K. Ezzinbi and J. Wu, Center manifold and stability in critical cases for for some partial functional differential equations, *Int. J. Evol. Equ.* 2:69–95, 2006.